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<1 Processor A is big-endian,
Processor B is little - endian

↑data hazard happens when the result of(2)

the current instruction is
not ready but the

following instruction
needs .

add $3 , $1 , $2
eg :

sw $3 , 01$41

② control hazard happens when the instructions

can't be executed until the branch condition

is confirmed.

eg : beg $1 . $2 ,
Else

Else :Sub $3 , $4 , $5



137 number of blocks :
32 x 210 bytes

= 29
64 bytes

=> 2 blocks/set#
cache index : 7 bit

tag of the cache memory
: 19 bit

RAM Capacity : 4x (1 + 19 + 29) x 2) bit

= 66 .5 GB

(4E = C + CPRis[R : + (1- R2)Rd]
I

=>
z = I . 1 + PRis[Ri +< /-R2)Rd)


